= o
A & 0l & AF 2 E A A
20168 & =0l & LBHSIH Aot AR A
AN dot=SAFE A
HE: M4E el
Sl DI2ASE 22 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 36,928,048 39,342,954 A 2,414,906
2 13,208,000
Xl 6,160,000
= 960,000
s 16,600,048
o= 2te| 10,228,376 9,543,376 685,000
X 6,160,000
= 60,000
[ia 4,008,376
OS5 22l 10,228,376 9,543,376 685,000
Xl 6,160,000
= 60,000
s 4,008,376
SOHEMS &d==ZAE HES 1,427,376 1,417,376 10,000
< 60,000
[ia 1,367,376
201 et 16,736 16,736 0
01 At 2teltl 6,860 6,860 0
OgergH| 3,360
~NAT YREX MREE 7Y
150,000& =128 1,800
— &0 Sl 60,000 *63| 360
—LetZ3H 082 20,000& x60A 1,200
O=&l 3,500,000& 3,500
02 2324l 9,876 9,876 0
O=323<LHA 8,076
— ot R232 MELXAM SI &5
450,000& 123 5,400
—EAMN AZAE BZ=+=2 336,000 13 336
— &AL 4ot AIBE 100,000& =128 1,200
—EYs A 48,000 123 576
—RESYHR= 47,0003 123 564
OAl & ZHIR X bl 1,800
— HTYE(HAMA) B
1,800, 000& 14 1,800
202 O4dl 8,640 8,640 0
01 = LH 4 Hi 8,640 8,640 0
Oszdess 238 RF=8 8,640,000 8,640
203 YR =2l 2,000 2,000 0
03 AR EZ L R=T Y| 2,000 2,000 0
O&aot=EAMS AIHFZ 2,000,000& 2,000
401 Al HI K 201 I 1,400,000 1,390,000 10,000
< 60,000
s 1,340,000




SH: MBAEAYA
B MaT B2
& tSddsE 2o
SA - ZE-B(EA) - NRAY - B S il &t o il
01 A& HI 1,388,840 1,378,930
OsHEDS d=ZAE HE+
198,560, 000& 198,560
OgAasYI £X 20,000,000& 20,000
Obts&=2 Ss¢3 WA 99,100,000& 99,100
Obts&d=% E=XalAld X 99,100,000 99,100
Oltsad=t & ARE A4 252+l
99, 100,000& 99,100
OARE SFAE HE* 99,100,000& 99,100
OJIE XNot==IHe 3otA dSEAESA
79,280,000 79,280
OXlot=2td HA(MHME) 99, 100,000& 99,100
Oa= 22 S8At 29 99,100,000 99,100
OEHIEXZAY 496,400
—ISdZ(SA4E) A2 Y2E
29 496,400,000 496,400
< 60,000
e 436,400
03 A& S THHI 11,160 11,070
OsSHEDNS &= Ad HE=>
200,000,000& *0.72/100 1,440
Oonts&= 283 uX
100,000,000& *0.90/100 900
Otk F=XMclAlE &1
100,000,000& *0.90/100 900
Obt2d=E 2 A2 =AE 222t
100,000,000& *0.90/100 900
OArE SFAE HE=
100,000,000& *0.90/100 900
OJIE XNot==IHe SItAH SSXIAES
80,000,000& *0.90/100 720
OXot=2td HA(HMOME)
100,000,000& *0.90/100 900
OG22 S2EAEY
100,000,000& *0.90/100 900
OZHIEx= AL 3,600
—OISdsZ(SaAE) X2l 2U2AHPE
249 500,000,000& *0.72/100 3,600
A2RETAE ALY 714,000 714,000
Xl 500,000
s 214,000
401 AIEHI L 2CHYI 714,000 714,000
X 500,000
[ 214,000
01 A& HI 709,501 709,501
OXNALHEL 3 A ALY 709,501




A dot=Z A A
B yaz B2
Sel DISAAE 2 (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— A2 =EAE HEAMY 709,501,000 709,501
Xl 500,000
[ia 209,501
03 A& 2 THHI 4,499 4,499 0
OXNGLHEL S A ALY 4,499
— A8 =T AE HEAY
714,000,000& *0.63/100 4,499
Y -2 sHEYESTIHEAS 2,857,000 7,412,000 A 4,555,000
Xl 2,000,000
[ia 857,000
401 Al HI & 28I 2,857,000 7,412,000 A 4,555,000
X 2,000,000
s 857,000
01 A& HI 2,496,714 6,688, 196 A4,191,482
OXNGLHELI A ALY 2,496,714
Y BF SOHEMEBENLAMY
2,496,714,000& 2,496,714
Xl 2,000,000
[ia 496,714
02 Zeltl 350,000 691,000 A 341,000
OXNALHEL S A ALY 350,000
— U -BF sHELUEES=HEAMS
350,000,000 350,000
03 AIE 20 HI 10,286 32,804 N22,518
OXNSLHSEZ A A 10,286
Y BF SOHEMEBENLAMY
2,857,000,000& *0.36/100 10,286
EF FHAE OMAMS (sHEMESSNY) 3,087,000 0 3,087,000
Xl 2,160,000
= 927,000
401 Al B2 28I 3,087,000 0 3,087,000
X 2,160,000
= 927,000
01 A& HI 2,878,665 0 2,878,665
OXNGLHMELS A ALY 2,878,665
—&F FH=AN4 0l8AIE 2,878,665,000& 2,878,665
Xl 2,160,000
s 718,665
02 Zeltl 200,000 0 200,000
OXNGLHMELS A ALY 200,000
—&F FHaAN4E Ol&EALS 200,000, 000& 200,000
03 AIE 2 0HHI 8,335 0 8,335
OXNGLHEELS A ALY 8,335
8% HAAE OTAY
3,087,000,000& *0.27/100 8,335

_3_




A dot=Z A A
B yaz B2
Sel: D24 22 EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ZTH -2 SOHELH2EFHLAY 714,000 0 714,000
Xl 500,000
= 214,000
401 Al Bl 28I 714,000 0 714,000
X 500,000
i 214,000
01 A& Bl 509,501 0 509,501
OXNSLHSEZ A A 509,501
—ZH - E2E SOHELEES HEAY
509,501,000& 509,501
Xl 500,000
[ia 9,501
02 Zeltl 200,000 0 200,000
OXNALHEL 3 A ALY 200,000
—ZH - EE sHEMEES HEAY
200,000, 000& 200,000
03 Al& 20l 4,499 0 4,499
OXNSLHSEZ A A 4,499
—ZH - E2E SOHELEES HEAY
714,000,000& *0.63/100 4,499
Y sOHEMESIHD M 429,000 0 429,000
Xl 300,000
= 129,000
401 Al Bl 28I 429,000 0 429,000
Xl 300,000
= 129,000
01 A& HI 305,911 0 305,911
OXNHLHEE S A AL 305,911
—&dY SHEMEES HEAY
305,911,000& 305,911
Xl 300,000
s 5,911
02 Zeltl 120,000 0 120,000
OXNGLHELI A ALY 120,000
—dY SOHEMUES> HLAY
120,000, 000& 120,000
03 AIE 2 0HHI 3,089 0 3,089
OXNHLHEE 3 A AL 3,089
—&EY SHEMEES HEAY
429,000,000& *0.72/100 3,089
AWM SHEHSESIHL ALY 714,000 0 714,000
Xl 500,000
s 214,000
401 AIEHI 2 2 0HYI 714,000 0 714,000
X 500,000




A dot=Z A A
B yaz B2
Sel DISAAE 2 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 214,000
01 A& HI 509,501 0 509,501
OXNHLHEE S A AL 509,501
— MW SO EMEELNLAY
509,501,000& 509,501
Xl 500,000
[ia 9,501
02 Zeltl 200,000 0 200,000
OXNS LSS A A 200,000
— MW SO EMESLNLAY
200,000, 000& 200,000
03 AIE S THHI 4,499 0 4,499
OXNHEHEE S A AL 4,499
— MW SO EMEELNLAY
714,000, 000& *0.63/100 4,499
EFZ sHEMEESIHLAY 286,000 0 286,000
Xl 200,000
[ia 86,000
401 AIEHI L 2 CHYI 286,000 0 286,000
Xl 200,000
[ia 86,000
01 A& HI 283,940 0 283,940
OXNGLHEL S A ALY 283,940
~ 83 SOEMESLNLAY
283,940,000 283,940
X 200,000
s 83,940
03 AlE R THHI 2,060 0 2,060
OXNSLHSE I A A 2,060
— 23 SHEYHEESFHLAY
286,000, 000& *0.72/100 2,060
3ot 2tel 18,930,049 22,140,897 23,210,848
= 13,208,000
= 600,000
i 5,122,049
ot &l 5,981,399 10,016,601 A 4,035,202
= 4,676,000
i 1,305,399
JtOFOFZ ol==2t01 HEHIALY 5,254,399 3,207,601 2,046,798
= 4,176,000
e 1,078,399
401 Al HIZ 201 8] 5,254,399 3,207,601 2,046,798
= 4,176,000
e 1,078,399
01 A& HI 4,821,263 2,778,940 2,042,323




A dot=Z A A
Ny ZRolAT B2
& St=2t FHl (9 ® =)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZHIEx= At 4,821,263
— JtOF - OF2® Gt=2t01 ZHIAY
4,821,263,000& 4,821,263
= 4,176,000
[ia 645,263
02 Zeltl 420,000 420,000 0
O=HIEXZ ALY 420,000
—JOF - OF2Y Gt=201 EHIALY
35,000,000& x12& 420,000
03 AIE 2 0HHI 13,136 8,661 4,475
OZHIE= At 13,136
— JtOF - OF2® Gt=2t01 ZHIALY
5,254,399,000& *0.25/100 13,136
g8 22 FHAY 727,000 0 727,000
=2 500,000
e 227,000
401 Al B2 28I 727,000 0 727,000
=2 500,000
e 227,000
01 A& HI 642,019 0 642,019
O=HIEXZ ALY 642,019
—g3 22 FY| 642,019,000 642,019
= 500,000
i 142,019
02 Zeltl 80,400 0 80,400
O=HIEXZ ALY 80,400
—g3 22 FY| 13,400,000& 6 & 80,400
03 Al S THHI 4,581 0 4,581
O=HIEXAY 4,581
—uly LEpz
727,000,000& *0.63/100 4,581
230t A4 Hbl 12,948,650 12,124,296 824,354
= 8,532,000
= 600,000
s 3,816,650
SAHE AL ot== AbI 767,650 617,350 150,300
201 Let24d| 13,330 13,030 300
01 At 22l 5,140 5,140 0
Ogt=&H| 200
—HAUABE P2Y 200,000& x13] 200
o=2g=¢ 2,700
—AJS HFHxG 150,000 »9H x23| 2,700
O=2gl 2,240,000& 2,240
02 8323l 8,190 7,890 300




IS
1%

‘.

T

0K OB 0%
0K Op St
[e]]

1 4 0
>
s
o

oo

=
nx
0
=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3 & HA 3,490
—ot=& &3 2,400,000 2,400
—2EX UHSIHA 50,000& 50
—&4EX BEE=2 1,000,000 1,000
—EIMNERES 20,000 x23| 40
OXte - &EHh| 4,700
— 2 50U 1,900& *2,0002| & 3,800
— 28X AL 450,000& »23] 900
202 odl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
Oot==ZHl 2 2FA 4,320,000 4,320
401 Al HI R 2018 750,000 600,000 150,000
01 A& HI 744,420 595,500 148,920
OZAHEFRE dt+=% HHl 148,920,000 148,920
OHSA=H St=& &X 148,920, 000& 148,920
OZAAHE ALY ot=& &4 148,920,000& 148,920
O380ot=& Ml ALRA 24
99, 100,000& 99,100
OZBo+E HalPYU 2 24 =22 ¥ @
H EH 198,560, 000 198,560
03 A& =TI 5,580 4,500 1,080
OZAMAERSEUH ot HHI
150,000,000& *0.72/100 1,080
OHSA=H ot=& ZH|
150,000,000& *0.72/100 1,080
OZAAHE ALY o= &4
150,000,000& *0.72/100 1,080
O33ot=k M2 AIRX 24
100,000, 000& *0.90/100 900
O33dt=% HMel228Ul 2 -2+ 2 & &
H EH 200,000,000& *0.72/100 1,440
WY sHEDS6t=S ZHIAIL (22H2) 2,505,000 1,376,827 1,128,173
= 1,558,000
= 134,000
i 813,000
401 A& HIZ 201 I 2,505,000 1,376,827 1,128,173
= 1,558,000
< 134,000
s 813,000
01 A& HI 2,335,182 1,211,070 1,124,112
O=HIEXAY 2,335,182
— U Otgctx== AXI(2&HH)
2,335,182,000& 2,335,182
= 1,558,000
< 134,000

~




2N Aol AIE A
Ny ZRolAT B2
e 220l AlE H| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 643,182
02 2teld| 160,800 160,800 0
O32HEZAY 160,800
— Y OtSota=% A X (2¢HH)
13,400,000 x12& 160,800
03 Al 24| 9,018 4,957 4,061
OZHIBEZAY 9,018
— [ Otsota=S & X (2EHH)
2,505,000,000& x0.36/100 9,018
S92 =026l U AY 3,390,000 1,449,827 1,940,173
= 2,162,000
== 185,000
= 1,043,000
401 AIEHIZL 201 Y| 3,390,000 1,449,827 1,940,173
= 2,162,000
= 185,000
= 1,043,000
01 Al&H| 3,220,047 1,283,807 1,936,240
O=2HIExZAY 3,220,047
—8=2 sHE 0IS2ot+=% HHIAY
3,220,047 ,000& 3,220,047
= 2,162,000
= 185,000
= 873,047
02 2elbl 160,800 160, 800 0
OZHIEZANY 160,800
—82 SHE OISot:=T EBIAMY
13,400,000& x12& 160,800
03 Al&E 201 Y| 9,153 5,220 3,933
O=24HIExZAY 9,153
—8=2 sHE 0IS25t+=E UMY
3,390, 000,000& +0.27/100 9,153
2F sHEOSolx=T EHAY 361,000 2,182,000 A 1,821,000
= 226,000
& 19,000
= 116,000
401 AlEHIZL £ 0HY| 361,000 2,182,000 A 1,821,000
= 226,000
& 19,000
= 116,000
01 Al& H| 251,200 2,013,344 N1,762,144
OZHIEXZAY 251,200
~8F S0E 2545 FUAY
251,200,000 251,200
= 226,000
== 19,000




2N Aol AIE A
Ny ZRolAT B2
e 220l AlE H| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 6,200
02 2teld| 107,200 160,800 A 53,600
O32HEZAY 107,200
—2F sHE 0ISot+=E HHIAMY
13,400,000 »8& 107,200
03 Al 24| 2,600 7,856 N5,256
OZHIBEZAY 2,600
—2F sHE OIS0t % HUIALE
361,000,0002 x0.72/100 2,600
22FIS sHE0I2dl=5 FHAIY 5,925,000 4,248,848 1,676,152
= 4,586,000
o 262,000
= 1,077,000
401 AIEHIZL 201 Y| 5,925,000 4,248,848 1,676,152
= 4,586,000
o 262,000
= 1,077,000
01 Al&H| 5,749,387 4,076,576 1,672,811
O=2HIExZAY 5,749,387
—Z2FI)s sHE OS5t ZHAIY
5,749,387 ,000& 5,749,387
= 4,586,000
= 262,000
= 901,387
02 2elbl 160,800 160, 800 0
OZHIEZANY 160,800
—2FI)s sHE OFSota=S HU ALY
13,400,000& x12& 160,800
03 Al&E 201 Y| 14,813 11,472 3,341
O=24HIExZAY 14,813
—Z2FI)s sHE OtS6t=% ZUH ALY
5,925,000,0002 +x0.25/100 14,813
HESHAL| (Mot TAFH A) 21,760 20,740 1,020
JlE&dl 21,760 20,740 1,020
o123l 21,760 20,740 1,020
201 LBt 9H]| 9,160 8,140 1,020
01 AP 22| H| 9,160 8,140 1,020
Ogbt4=24| 9,160,000& 9,160
202 044 8,400 8,400 0
01 2L Y| 8,400 8,400 0
S (A, MIIU, 385 &4 5)
8,400,000& 8,400
203 €2 F&d| 4,200 4,200 0




2N Aol AIE A
M HYHAAH| (MGt EAIEA)
Ee: I3 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 EASHEIRFAH| 4,200 4,200 0
OBAM2g9g2=8Y| 4,200,000 4,200
MEES(MBIETAIAA) 7,747,863 7,632,441 115,422
= 300,000
= 7,447,863
WEAHA XK= 7,747,863 7,632,441 115,422
= 300,000
= 7,447,863
JIEISHEE2 2,933,650 2,303,467 630, 183
701 JIEISI HSHEE2 2,933,650 2,303,467 630, 183
01 JIEIS HE =2 2,933,650 2,303,467 630, 183
OFZNLEEZH &2 2,933,650,000& 2,933,650
2I|PYELIIHEE2 4,814,213 5,328,974 Ab514,761
= 300,000
= 4,514,213
701 JIEISI HSEHE2 4,814,213 5,328,974 Ab514,761
& 300,000
= 4,514,213
03 2I)|IHYELEIHIN=2AIEZ 4,814,213 5,328,974 N514,761
OM=EZBIIHELESH NEBNB
4.214,213,000& 4,214,213
OEHEXZANY 600,000
— &~ =2t XA SEAZA
600,000,000& 600,000
o=t 300,000
= 300,000




